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QUESTION 1

You are designing a Hitachi NAS Platform solution to migrate files to a Hitachi Content Platform (HCP). Which
configuration method must be used?

A. Use the connector wizard.

B. Use the CLI command xvl-path-add.

C. Use the CLI command external-path-add.

D. Use the CLI command migration-add-external-path.

Correct Answer: D

QUESTION 2

You are discussing Fibre Channel (FC) connectivity requirements with a customer who is comparing the capabilities of
the different Hitachi NAS Platform models. Which model has a minimum connectivity requirement of 4 FC ports?

A. 2200
B. 3080
C. 3100
D. 3200

Correct Answer: D

QUESTION 3

When de-migrating files with Data Migrator from Tier 2 back to Tier 1 and there is insufficient space available for the de-
migration path, what happens to the de-migration instance?

A. Data Migrator will look for an alternate location with available space.
B. Data Migrator will fail the reverse migration instance.

C. Data Migrator will automatically map to another file system.

D. Data Migrator will automatically delete data in place of the stub.

Correct Answer: B

QUESTION 4

A customer must have 24/7 uptime on their Hitachi NAS Platform 4-node 3200 cluster. They need to complete a major
upgrade on each of the 4 nodes and must have a method of failing over their production services to a non-production
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cluster. Which two topics must be discussed with the customer prior to the major upgrade? (Choose two.)
A. automatic failover using HiTrack

B. the purchase of a backup cluster

C. establishing a Server Farm

D. use of MPIO for failover

Correct Answer: BC

QUESTION 5

A customer wants to install the two nodes of a Hitachi NAS Platform cluster 125 meters apart. What are two
prerequisites? (Choose two.)

A. The cluster interconnect XFPs must be longwave laser extended.

B. The multimode fiber optic media must comply with the OM3 standard.

C. ADWDM is required.

D. The SMU containing the Quorum must have network access to both nodes.

Correct Answer: BD
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